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Suggested answers to Test 4a

Section A

	Question
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	10

	Answer
	B
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	D
	D
	D
	C
	B
	C


Section B

1. This is an example of a firm. (1)

It is because a firm is a business unit where people make decisions about production. The old man needs to make all the production decisions on his shoe-polishing business. For example, the polishing methods of different shoes and the price charged on each service. (2)

2. a) Before the surrender of franchise: monopoly (1)

After the surrentder of franchise: oligopoly (1)

b) Government ownership/ ownership of important resources/ economies of scale/ hugh capital requirement (any 3, 1 mark each)

Section C

1. a) (i)Horizontal expansion. (1)

  (ii)Economies of scale/ greater market power (any 2, 1 mark each)

b) Oligopoly. (1)


It is because a few sellers dominate the market, e.g., Apple Daily, Oriental Daily News and Sun Daily. They are interdependent in price setting that if one firm marks up or down the price, the other follows. (2)

c) It is because a change in price will make the seller who takes the lead in changing the price lose, or at least cannot gain. (1)

First of all, cutting prices may cause a price war that makes all sellers lose. (1)


Secondly, raising prices may reduce the market share of the seller who takes the lead in changing the price, as other sellers may not follow. The total revenue of the seller would decrease if demand is elastic. (2)

d) As different newspapers are close substitutes, (1)


the lower price of Sun Daily would increase its quantity demanded, while decreasing the demand of other newspapers. (2)



In order to keep their market share, they would cut their prices accordingly. (2)

